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Mansoura University & , First Level .. -

Faculty of Science 5{ N Date: 5/1/2016 ,
Chemistry Department N ‘ Time Allowed: 2 hours
Course: Chem. (121) W Full Mark: 60 Marks

*ERE Answer the following questions ****

[Q1] Put the Mark (\/) for the right sentence and (X) for the wrong with writing its correction:
- " (15 marks)
1. The CI-P-Cl bond angles in PCls are 90° and 120°. (;sP, ;Cl)
2. The maximum number of electrons in each of subshell is 4 +1).
3. The first ionization energy of P atom is less than that of S atom. (1sP, 16S)
4. Inthe periodic table, the O element is the highest electronegative and Ba is the least. (30, s¢Ba)
S. BeCl, is a linear molecule whereas H,O has bent molecular geometry. (,Be, 50, 1,Cl)
6.  The polarity of the covalent bond increases as follow: C-O0>C-N>C-F
(Electronegativities of ¢C =2.5, ;N =3, 30 = 3.5, oF = 4)
7. No two electrons in one atom have different set of quantum numbers.
8. The maximum number of electrons in f'subshell is 14.
9. The atoms combined together to form bonds.
10. The hybridization of B in BF3 is sp’. (sB, oF)

[Q2] Choose the correct answer of the following questions: (15 marks)
1. Which sketch represents an orbital with the quantum numbers n = 3, £ = 0, m;= 0?

D S v O © 8 Yy ety

2. Which of the following is most likely to be an ionic compound?

a) NF; b) N, c) CO, d) Na,O
3. Which of the following has the largest radius? (30, ;;Na, ,Mg, 1;Cl)
a) CI b) O* ~ ¢)Na' d) Mg*
4. What is the electron configuration for copper ion, ,oCu*? '
a) [Ar] 4s? 3d° b) [Ar] 45" 3d"° ) [Ar] 4s°3d"  d) [Ar] 45> 3d°
S. Which of the following Lewis N,O structures is false? (7N, 50)
a) : N=N-O: ) N=N=8& o :N-NZO:
6. Which one of the following is a metal?
a) sB b)¢C ¢) 31Ga d) K
7. Which one of the following molecular formulas is an empirical formula?
a) C¢HgO, b) H,0, ¢) C;HSO d) H,P,Oq
Molecules like CO,, NO, and BF;, which one obeys octet rule? (sB, ¢C, 7N, 50, oF)
a) All obey. b) Only BF; c) CO, and NO, d) Only CO,
8. Which one of the following is the correct orbital diagram for ground state oxygen (s0)?

2p is 25 2p is 2s 2p is 12s 2p

DA [ 2 TF] o[ oM [T] o[n[t] ]

9. Which of the following elements has the most negative electron affinity?
a) joNe ‘ b) oF c) sO d) ¢C

Please turn over
Sme.




+ - [Q3] Complete the following statenients: : : : (15 marks)

1. Pauli Exclusion Principle states that ................. : |

- 2. The four quantum numbers of the last electron in 3d> are ........

Ber i il el concluded that it is impossible to 51multaneously know both the position and
momentum of an object as small as an electron. ‘

4. .In Lyman series of H spectrum, the third line represents the movement of electron from the ...
energy level to the ............

5. The atomic size of Liis ...... than that of O and the atomic size of Be is ...... than that of Ba.

(3Li, 30, 4BC, 56Ba) ‘

6. Down the group, the first ionization energy ............ and the electron affinity ..

7. s-s overlap produce ...... bonding molecular orbital and ...... antibonding molecular orbital.

8. Ionic bond results from attraction between ions of different charges and ........... bond results from
sharing of electrons from two atoms but ........... bond results from sharing pair of electrons in which
both electrons come from the same atom. '

9. 80% of known elements on the earth are ...........

10.Bonding M.O. possess ........... energy than of atomic orbitals.

[Q4] a- On the basis of (M.O.T), answer the following: (15 marks)

1. Which molecule is more stable O, or O, ?
2. Which molecule is paramagnetic N; or O,?

b- 12 gram of zinc and 6.5 gram of sulfur react to form zinc sulphide (ZnS), a substance used in

phosphor that coat the inner surfaces of TV picture tubes and computer screens; the equation of the
reaction is

_ Zn+ S — ZnS
1. Which is the limiting reactant?

2. How many grams of ZnS can be formed? (The atomic weights of Zn= 65.4, S=32).

¢) Magnesium reacts with chlorine to form MgCl,, draw Born-Haber cycle of the formation of MgCl,?

**%%% Best Wishes *****

Prof. Nagwa Nawar and Prof. Ola El Gamal
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Mansoura University Final Exam First Term (January, 2016)

First Level, Geophysics & Geology & Programs

Subject: Physical &Historical Geology (Geol.101)
Time: 2 hours 60 Marks

Faculty of Science
Geology Department
Date:12/1/2016
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JViansoura University o py _ o Time Allowed: 2 h
Faculty of Science ‘ %{ _ Date: 16/1/2016
Department of Physms ol e S&s= a All Programs
: : Fnst Term Exam 2015-2016
~ Physics (101) o
wer the i estions: - S S
M@M@ing of each exnression- - | s (20 Mark)

1- lThe work done to produce a quantlty of heat equal to 1 cal.

- 2- Particles that are very close together can transfer heat energy by .....

3- The quantity of heat (Q) that flow perpendicular to the face during a time (t).

4-  The rate of heat flow per unit area per unit temperature gradient when the heat flow is at right angle

to the faces of a thin parallel material under steady state condition.

5- - The amount of time it takes to complete one oscillation or 1 cycle.

6- The amount of heat per unit mass needed to change one gram of a solid substance into one gram of
liquid without changing its temperature. .

7- The deformation produced in the body is not completely recovered after the removal the load.

8- The negative ratio between the lateral strain to longitudinal strain.

9- An external pressure applied to an enclosed fluid is transmitted uniformly throughout the volume of
the liquid.

10-1If a body is totally or partlally 1mmersed in a ﬂU.ld the buoyant force will equal to the welght of
displaced fluid. -

Q.2) Write '"T" if the statement is true and 'F' if the statement is false. | . (10Marks).

1- Hooks law is applied correctly up to Elastic limit. _
2- Insulators do not have free electrons and so they conduct heat as well as metals. =
. 3- Heat conduction is the transfer of heat by the direct collision between particles of matter.
4- The heat travels between the Sun and the Earth by conduction or by convection.
5- The latent heat of vaporization of a substance is always Greater than its latent heat of fusion.
6- The coefficient of linear expansion is twice the area of thermal expansion.
7- Substances with higher heat capacities heat up more slowly than those with lower heat capacities.
8- In steady flow, the velocity of an incompressible fluid at each point does not remains constant.
9- A thermometer is an instrument that measures the temperature of a system in a quantitative way.
IOf Change in shape or size (or both) of a body due externally applied force is called stress.

TN TN s e PN e PN AN
N O e

Q3) SolvetheseProblems . ) (10 Marks)

-1- A 0.1 Kg unknown (1ng0t) of metal is heated t0.300 °C and then dropped into a beaker containing 0.5 Kg
of water initially at 25 °C. If the final equlhbnum temperature of the mixed system is 50 °C. Find the
_ specific heat of the metal. (Cy, =41907)
2- The smaller and larger pistons of a hydraulic press have dlameters of4 cm and 12 cm. What mput force
- is required to lift a 4000 N weight with the output plston‘7
3- The extremes of temperature in the bottom of the earth, over a perlod of 50 years, differ by 116 °F.
Express this range in Celsius degree?

4- A square hole 8.00 cm along each side is cut in a sheet of copper. Calculate the change in the area of
this hole if the temperature of the sheet is increased by 50.0 K. B¢ = 34 x 106 KL,

5- Ifthe force F equal F=2mrLvn/R wherer is radius L is length, v is speed and R is distance, what
are the dimensions of 1 (viscosity)?



Q.4) Answer these questions: » 20 Marks)
1- If the general equation of simple harmonic motion is gives by [@*x/ df +(k/m)x = 0]. Prove that the

angular frequency w’ k/m where x is the dlsplacement k is the sprmg constant and m is the mass of
object. o e ks _ P

2- Write the dlfference between the tensﬂe the Bulk and the ngldlty modulus.

3- Bernoulh s equation studies the rela‘non between pressure P, density p, velocity v and height h and
their ablhty to describe fluids in motion. Discuss this equation in When i- the liquid at rest, ii- if the
height is constant. iii- When there is no change in pressure

4- There are three temperature scales that are used by sc1ent1sts to measure ternperature How are they
different from each other"

Good luck
Examiners
Prof . Dr. Moustafa Tawfik . Prof. Dr. Rizk Moustafa
‘Ass. Prof. Maysa -Ismael P ~ Dr. Mohamed Mekamer

Dr. Afaf Sarhan = - Dr.Menem Reda



Faculty of Sc1ehée o -
Botany Department Sl
El-Mansoura, Egypt

" Final Examtnatitni in B(‘);t;hnr
First Term: Jan. 2016

i EducatioﬁalrYear.F‘ii'stLét/el‘ 4;“,

Course: Biodiversity Chemistry and  Botany,
A : ; : Chemistry and - Zoology,
Environmental Sciences,
Sl Biochemistry and Geology. 7
Code: B 101 Time: 2 hours Date: 26/1/2016 - Full Mark: 60 Question Mark: 15
Answer the Following Questions: Ofinda B (latay)

_ @A Complete the following sentences: (6 mark)

1. Deutromycetes are characterized by v...eeeeeeeeeee@ld cevevennnnenes
2. Bumycota are classified 1010 Classes wssesssysewss v avey wuss s ssyns wwms s
3. ASCOCALDS I ASCOMYCOIES BIC v vus vsssssgranss snis insnysson sebian
4. Spores produced in the hosts of Puccinia graminis are «..u.eegeseessegessesnsyesnnnns
5. Asexual reproduction in Zygomycetes by the formation of..................

.10, Stages of sexual reproduction in FUNGI 1€ « usecomy sonssssevavnyss avenowes

B. Write short notes with labeled diagrams on the following: (9 mark)

1. Ascus and ascospores formation in ascomycetes. :
2.  Economic importance of Mycophyta
3. Nutrition in Fungi.

A. Complete the missing word(s): (4 mark)
1- Staminate flower must lack........ | ‘
2- In bryophytes, the root-like structure is known as.........
3- Gymnospermae reproduce by.......
4- ... is the dominant gener‘ation in Funaria life cycle.
B. Choose the most correct answer: (4 mark)
1) Which of the following is a non-vascular plants

a- Pinus ' b- Cycas c- Adiantum d- Funaria
2) Double fertilization occurs in
a- Gymnospermae  b- Angiospermae c- Ferns - d- atb
< 43 4l) Culd) Muad

(1)



C.1- Mentlon ONLY TWO dlagnostlc featu 'ot pIants
(4 mark) .

- 2- With the help Of a LABELED DIAGRAM 111ustrate the life cycle of a
bryophyte. (3 mark) :

.A Types of reproduction in Chlamydomonas w1th the help of labeled dlagrams
(7 mark)
B. Define each of the following (draw if possible): (3 mark)

1- Air bladders in phaeophyceae. 2- Carpogonium. 3- Chrysolaminarin.
C.IN A TABLE; compare between each of the following: (5 mark)

1. The kingdoms of Whittaker's classification of living organisms.
2. Prokaryotes and eukaryotes organisms.

A- Complete the missing word(s): (7 mark)

1. The binomial nomenclature system gives each organism two names the ......... and

The protein coat enclosing the viral genome is known as ..........
Viruses that replicates inside bacterial cells are termed as ..........
Eubacteria belong to the kingdom ..........

Bacteria that cannot grow in absence of oxygen are called ..........

Peptidoglycan is a polymer composed of amino acids and sugars which is an integral
part of the cell wall of...

7. Bacteria reproduce Vegetatlvely B awswmas om0
B- Mention the potential function of the following: (3 mark)
1. Heterocysts. ' 2. Bacterial capsules. 3. Akinetes.
C- 1- Using labeled diagrams ONLY differentiate between monotrichous,
lophotrichous, amphitrichous, and peritrichous bacteria. (2.5 mark)

2ol

2- Mention the distinctive characters of cyanobacteria. (2.5 mark)

With Best Wishes

Examiners: Prof. Dr. Mohém‘ed A. Abbas Dr. Ghada S. Abou-ElWafa

(2)



Mansoura University First Year English Examination
ESPC , 23/1/2016
Faculty of Science Time: Two Hours

Section One: Reading Skills:

Below is a short passage comparing Solar energy to other sources of energy. Read the
passage in order to do the tasks which follow:

(1) Solar energy is a renewable energy source. This means that we cannot run out of solar energy,
as opposed to non-renewable energy sources (e.g. fossil fuels, coal and nuclear). We will have access to
solar energy for as long as the sun is alive — another 6.5 billion years according to NASA. It is also
abundant: The potential of solar energy is beyond imagination. The surface of the earth receives 120,000
terawatts of solar radiation (sunlight) — 20,000 times more power than what is needed to supply the entire
world. An abundant and renewable energy source is also sustainable. Sustainable energy sources meet the
needs of the present without compromising the ability of future generations to meet their needs. In other
words, solar energy is sustainable because there is no way we can over-consume.

(2) Harnessing solar energy does generally not cause pollution. It is clear that solar energy
reduces our dependence on non-renewable energy sources. This is -an important step in fighting the
climate crisis. Solar energy is available all over the world. Not only the countries that are closest to the
Equator can put solar energy to use. The majority of today's solar power systems do not require a lot of
maintenance. Residential solar panels usually only require cleaning a couple of times a year. Serious solar
manufacturers ship 20- or 25-year warranties with their solar panels.

(3) Solar vs. Wind : Wind turbines can take a lot of space and can be noisy, so they’re better
suited for rural rather than urban locations. Wind energy works best in windy places, not surprisingly.
Solar power is adaptable — Germany is currently the largest market for solar panels, even though it’s not
known as a particularly sunny place. In other words: it is more important to live in a windy place if you
want to use wind turbines than it is to live in a sunny place if you want to use solar panels. Wind turbines
require maintenance, and solar is virtually maintenance-free. Wind power can be less expensive to
produce initially. On the other hand, the federal tax credit, state and local incentives are making solar -
power more affordable. ;

(4) Solar vs. Hydropower: Hydropower is typically done in large-scale dams rather than for
homeowners (although someone with a rushing stream or river on their property might be able to use
small scale “micro-hydro”); solar can be used almost anywhere. Large dams are extremely expensive to
build. Flooding large areas of land destroys habitat and can force human relocation; solar panels can be
installed on existing unused space like rooftops. Building large dams can cause geological damage
leading to earthquakes. Dams can unfairly alter water supply between communities and countries.
Building dams alters the natural water table level and can negatively affect wildlife such as salmon.

(5) Solar vs. Biomass: Biomass (wood or plants) is usually used for fuels rather than electricity
production, though it can be used either way. Right now, most homeowners in the U.S. do not have the
option to purchase electricity made from biomass, though it’s available in a very small number of areas.
Crops like sugar cane and other sources for biomass require land that could otherwise be used for growing
food. Algae helps avoid this problem somewhat because it can grow in water. Solar panels do not .
necessarily need to use land space, since they can go on existing roofs. Burning biomass creates CO2
emissions, though less than fossil fuels like coal. Solar energy does not create emissions as it produces
power. Solar panels have efficiencies as high as 19%, meaning that much of the sun’s energy is converted
into electricity. The efficiency of biomass is much, much lower — perhaps less than 1%.

I. Answer the following questions briefly:
1. What are some of the negative effects of a) dams, b) wind turbines, and c) coal?



2. According to the information in the passage, explain in your words how solar energy is a)
abundant, b) sustainable, c) renewable, and d) efficient.
3. Based on the text , how is solar energy more friendly to the environment and less expensive than
the other sources mentioned ?
IL Are the following statements true or false? Justify your answer with evidence from the text:
. 1. Establishing solar energy panels requires a lot of space on land.
. 2. Solar energy can be produced in places where the weather is not very hot .
3. Hydropower may be produced on a small scale by homeowners.
4. Generating solar pollution leads to noise pollution.
5. Biomass is more friendly to the environment than solar energy.
I1L Find words in the passage which mean:
1) Whole (Paragraph 1)  2) Need (Paragraph 2) 3) Influence (Paragraph 4)
4) Changed (Paragraph 5) . .
Section Two: Language Skills:

L. Each of the sentences in the passage below has one grammatical mistake. Find the
mistake and rewrite each sentence correctly.

(1) Acid rain describing any form of precipitation with high levels of nitric and sulfuric acids. (2) It can
also occur in the form of snow, fog, and tiny bits of dry material that settles to Earth. (3) When humans
burn fossil fuels, sulfur dioxide (SO2) and nitrogen oxides (NOx) released into the atmosphere. (4) These
chemical gas react with water, oxygen, and other substances to form mild solutions of sulfuric and nitric
acid. (5) Winds may spread this acidic solutions across the atmosphere and over hundreds of miles.
(6)When acid rain reaches Earth, it flows across the surface in runoff water, entering water systems, and
sinks into the soil. =~

II. Each of the definitions below has a mistake. First, decide if it is (1) giving an example,
(2) using a word from the term to be defined, or (3) absence of general class word. Then ,
rewrite the definition correctly.

1. Geometry is the study of geometric figures.
2. A degree is given by a university to a student who has passed the appropriate examinations.

3. A dictionary is a book like 'Oxford Dictionary'.

II1. Punctuate the followihg sentences

1. although peter lives by the ocean he won t go in water
2. ihave some news for you john s father has arrived

3. he said there is a u turn on two blocks on first avenue

IV. Do as shown in brackets:
1. can't make the person rich. (Add a gerund phrase).
2. Working in the yard all day, I got a sore.

Working in the yard all day, my back got sore.

Working in the yard all day, it became very neat. v
(Choose the only correct structure avoiding Dangling Modifiers)

Having seen black pool tower, the Eiffel tower is more impressive. (Correct the sentence)

He gave a present to his sister wrapped in a bright paper. (Correct the sentence)

Iceland has little agriculture (beside — besides — despite — during) grazing land for sheep, horses and
cattle.

W B W



Section Three: Writing Skills: Choose Only one topic: either A) or B):

VA) Using the information in the following diagram, write down a paragraph of about
150 words to compare between vertebrates and invertebrates:

Animals

rates  Invertebrates

Vertek

No backbo:’{ég

Have a backbone

\ Over 90% of animals
on Earth

Less than 10% of
animals on Earth
Examples:
~arthropods

Exampies:

~ mammals

~reptiles “mollusks
WS

~ echinoderms

~ amphibians
~ fish
~ pirds

™ SPONEes

B) Using the information in the following table, write a paragraph of about 150 words
comparing between Bacteria and Viruses.

Viruses Bacteria
* 20x larger than viruses
* Non<ellular and sub-micrescopic imuch smaller)

* Contain: asingle chromosome, a cell wall,

* 20x smaller than bacteria

¢ Singla<elled micro organisms

* Contain: a central core of DNA surrounded by a
protein coat, no nucleus, no cytoplasm, no cell cytoplasm, a cell membrane, ribosomes and
membrane, no cell walls, no ribosomes, enzymes | enzymes to break down food and build cell parts

naedad to invade a cell and replicate their nudeic

acids
* Only capable of reproducing inside other living

¢ Capable of independent reproduction, host cells
not needed

calls
* Do not fead, excrete, and grow * Feed, excrete, grow, and reproduce
* Nondiving * Living




